Math201.05, Quiz #1, Term 161

Name:

S‘A\M«qg

ID #: Serial #:

1. [3 points] Describe and sketch, with directions, the parametric curve
given by

x=—Vt—1, y=t+1  1<t<10.

2. [3 points] Find the area of the surface generated by revolving the
following parametric curve about the x — axix:
x=cos’t, y=sin®t, 0<t<n/2
3. [4 points] Find the area of the polar region that lies inside both curves
r=1+4cosfand r =1 — cosé.

Good luck,

Ibrahim Al-Rasasi
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Math201.10, Quiz #1, Term 161

Name:

ID #: Serial #:

1. [3 points] Describe and sketch, with directions, the parametric curve
given by

X = tant, y = —sect, ISt <a/2

2. [3 points] Find the slope of the tangent line to the polar curve r =
sin(26) at the point corresponding to 8 = 1 /6.

3. [4 points] Find the area of the polar region that lies inside both curves
r=1and r =1 — sind.

Good luck,

Ibrahim Al-Rasasi
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